> restart;

> Fl:=x->xA2-2; F2:=x->xA2-1; F3:=x->xA2-1/2;
F4:=x->xA2; F5:=x->xA2+1/2; F6:=x->xA2+1;
F7:=x->xA2+2;

Fl:= x—»xz—-Z

F2:= x—axz-—l
2
F3:=x->X -.l
2
F4:= x—»x2

F5:= x—>X2+-E

F6 := x—exz%—l

I F7:= x—>x24—2
_} plot([F1(x),F2(x),F3(x),F4(x),F5(x),F6(x),F7(x)],
=-4..4);




_> Gl:=x->(x-2)A2; G2:=x—>(x-1)A2; G3:=x->(x-1/2)A2;
G4:=x->(x-0)A2; G5:=x-—>(x+1/2)A2; G6:=x-—>(X+1)A2;
G7:=x->(xX+2)A2;

Gl:=x—>(x- 2)2

G2:=x—>(x- 1)2

2
G3:= xe{X—l]
2

G4:=x—> x2

1
G5:= x—>[x+ E]

G6:= x> (x + 1)°
)2

2

G7l=x—->Kx+ 2

(> plot([G1(x),G2(x),G3(x),G4(x),G5(x),G6(x),G7(x)],



x=-4..4);

w
q
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> Hl:=x->-2%xA2; H2:=x->-1%xA2; H3:=x->(-1/2)%*xA2;
H4:=x->(-1/4)*xA2; H5:=x->0%xA2; H6:=x->(1/4)*xA2;
H7 :=x->(1/2)*xA2; H8:=x->1%*xA2; H9:=x->2%XxA2;

Hl:=x—>-2 x2
H2:= x—»—x2
H3:= x——>—-1-x2

2
2
H4:= x—»—-l-x
4
2
H5:=x—0x
H6 = x—»-l X
4
2

H7:= x—al.x
2



H8:= x—»x2
H9:= x—»Z;xZ

_} plot([H1(x) ,H2(x) ,H3(x) ,H4(x) ,H5(xX),
H6(x) ,H7(x) ,H8(X) ,H9(x)],x=-4..4);




